Tema: Onpeoenenue nozapughma

Logx=y, x=4a

BbIYHCAUTD Jorapudmei:

1
log» 32, log,49, log, 16 , log : 25.

1
log .16, log,1, logs ¢, log 5 27.

log:3, logis15, log.

1
logs5, logsl, log, % , log i 9,

He Bce nmorapudmbl MOKHO BBIYUCIUTH YCTHO, C IOMOIIIBIO

onpecaACIICHUSA CTCIICHU.

Hpyroit cioco0 BeIYUCICHUS Jorapu(MOB uepe3 pelieHue

MOKa3aTeIbHOTO ypaBHEHUs. a*=b, a*=a°, x=c.

Oopaszen pemenns: 1ogs;64 =7

32Y = 64
25y — 26
S5y=6

y=6/5, logn64 = 6/5

BuryucauTh Jorapu@msl 1o 00pasuy:

1. L0g16 32
2. L0g8127
3. L0g64 16




